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Assignment
1. Consider the statement ——— 2% . gin?x - tan x + cos?x.
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c) State, and give reasons for, any restrictions.
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O 3. Consider the statement ::;:: =_ta;x'
a) Verifydxestatementistmeforx-g b) Provethestatcmentisanidentity.
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O 4. Prove the following identities using an algebraic approach.

£0 L
a) (1 - cos? x)(csc x) = sin x b) (sin x + cos x)2 = 1.+ 2 sin x cos x
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\ i o . SseCx+1 cosx+1l
e S. The identity sccx—1 T cosx— =0 has restrictions

n x= L so CosX+O
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NINTRNNG. The value of n, to the nearest tenth forwhichdxestatementbelowisanldenutyns
1 +sinx COS X n

COS X +(L+ sinx ~ cosx’
(Record your answer in nnmencalresponseboxﬁ'omleﬁtonght) ’

-

—

LS = _(J‘\'S\t\ x) +S\mt\ 1 (Cos)q ((csx) |+ Asiax { \na X T x)
ccsx(\ tsin x) cosX( \ﬁmx)
> l4dsiny +\ _ A +aSnx QC‘rsm)k)
osx(tsinn)  @sX(lHsw) CosX( lﬁ\n)\) COS)& -7 CDS)(
O . so V1= o~
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